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1. (xP)=p-xP!
1.1.(c)'=0, Tne ¢ — yucno
1.2. (x)=1
eX)!:eX
lnx)'=l , x>0
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COSX)'=-SInXx
a*)'=a*Inx
fod
(logax) =11t

x-lna

(
(
(sinx) '=C0SX
(
(
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Dopmyibl nudPepeHIpOBaHNS

U — cinoxxHas yHKLUS
L (uP)=p-uP! -(u)

2. (e")'=e" «(u)

3. (Inu)'= @

4, (sinu)’zcuosu ‘(u)

5. (cosu)'=-sinu *(u)’
6. (a")'=a"lnu -(u)
7. (log u)= ()’

U




dopmynbel AUMHEPEHITIPOBAHNS

X —mpocTas GyHKIHUS U — cnoxHas QyHKIUsA
1. (xP)=p-xP! 1. (WP)=p-uP! -(u)
1.1.(¢)'=0, toe ¢ —umcio 2. (e")=e" -(u)’
1.2. (x)'=1 3. (Inu)'= @
B (¢ P | 4. (sinu)’=cosu “(u)

3. (Inx)'= 7 x>()

4. (sinx)'=cosx

5. (cosx)'=-sinx

6. (a¥)'=a*lnx

7. (log x)'= 1
x-lna

5. (cosu)'=-sinu *(u)
6. (a")'=a"lnu -(u)
7. (log u)'= (u)'
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Ipumep 1
BBIYHCIINTE IIPOU3BOIHYIO:

% ¢ (5sinx)'=5cosx
@

* (5sin(14x-3)'=5cos(14x-3)(14x-3) ' =
—5003(1& 3)- (14& 0) = 5cos(14x-3)-14=
— 70‘005(14)(—3)
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Ipumep 2
BBIYHCIINTE IIPOU3BOIHYIO:

| ° (X7)':7X6

<

: ((3x+1'537)'=7-(3x+15)7-1 (3x+15)'==7-
(3x+15)°(3-1+0)=
#7(3x+1.5)6-3=21(3x+15)6

.




3apanue 1: Havitu mpon3BOaHBIC
CICAYIOMNX (PYHKIIHI:
y = cos (3x+4)
y=(-5x+4)’

y= Vv-2x° - 13y
V=S 8x
y = (4x-5)°



Ca

. cJbHAas padoTa

I Ba

D ((12x-6)%)

2) (sin ( 3x+1

3) (In(6+11x))’ 3) (esx+73).\ ,
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